EMF

Exercise Class 2

1.
Point charge + Q1 at (0, L)




Point charge - Q2 at (0, -L)

Show that at point P on 


the x axis, the electric 


field is
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2.
The field at P is given by the above expression.


An electric dipole (separation  << x or L) is placed at P.





Dipole moment = 2 C m


Dipole is aligned with x-axis
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Find the magnitude and 


direction of the torque  


on the dipole.



3.
(Difficult one)


Total charge Q is uniformly distributed 


along a rod of length L.





Find the electric field vector, 
[image: image3.wmf]E

, 


at point P, distance y from the 


mid-point.
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Hint:
Similar problems are 
done in Y&F p 687 and 
Ohanian pp 589-590
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